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No. e RBREH B RS rin M ERE
1 |EEHE Ta=125 °C, V = Vopr max. 2000 h 0/22 |HRREERBT S &
2 |mEEEns TR Ta=85°C, RH=85% 2000h | 022 |BBBEREBRT &
V = Vopr max.
— ° — — 5
3 | FLysrsunsqpr | 187125 °C, RHZ85%, P=2x10" Pa 100h | 022 |BEEBESRTSoL
V = Vopr max.
4 |ERRE Ta=150 °C 2000 h 0/22 |BRREER/ET S &
5 [ERR%E Ta=-65 °C 2000 h 0/22 |BmRBER/RET S &
= 1 X 1] 2 3 -
6 |BE]AYAII-1 Ta=85 °C, V= Vopr max. 10°%ycles 0/22 |HRamfiEEHRET S &
8 x _
7 |BEBRRAYAIIL-2 Ta=105 °C, V= Vopr max. 10%ycles 0/22 |HFBREFRT S &
- 5x o . _
8 |[EEHAYAHIL-3 Ta=125 °C, V= Vopr max. 10%ycles 0/22 |BlRREEBRET S L
9 [BEY,L (5" Ta=150 °C ¢ —65 °C, %& 15 % 1000 cycles | 0/22 |MSREKEBRT S &
. HEHEKERRET S &
10 |IFAFEfERE 1 (U 7R—) 7 T=260 °C, 10s SHE 022 | piee g o &
" } oy #2 T=380°C, 55 (IFAFFaTHEE) R ERETHI L
11 | [FAEmEYE 2 (AT T) HE U — K8 2 022 | piga | mampisr = &
HRREEBRET S L
- T [ _\#2 — o N
12 | [FAFETEME 3(7 B —) T=260 °C, 10s 1[a 022 | jiea t maspisr = &
TRV ARE A LA 3HUA
i #3 T=245 °C ThdL
13 | IZA 1A A TH + Sn-3.0Ag-0.5C °5 | Ol emmams 0 95k LS
EHTEOLNDZ L
ABH A4 XA 40 LITF
14 |4 25 1 (BEEE) Ta=30 °C, RH=60% 4000h 0/6 -Z;J%, —& um =
15 |4 RA2GCEEYA1 ) Ta=85°C & -40°C 1500 cycles | 0/6 2;2?34 AB% 45pum AT
s ABH A4 XA 40 LITF
16 |74 RH 3 (BEEERHT Ta=55 °C, RH=85 % 4000h 0/6 _Z;Jé apy um B
17 XA ESEESE Ta=125°C & —40 °C 2000 oveles | 022 WEATRREED 50% LI LD
(&AM [£AF2H : Sn-3.0Ag-0.5Cu Y BEEHET S L
18 [J— KBl -5k Y &E 5|58 4 : 5.0N 30s 011 |V—FABELEWNC &
19 1) — FehIF3&E 513 H : 2.5N 45 Ei YT 2 [d 0/11 |U—FABRELEWN &
_ V=+2000 V, C=100 pF, R=1.5 kQ . _
it E 1(HBM 4t ; =
20 |EFEmEL( ) VeoH . GND B 5 [g 05 HEBRRERRTLHIL
21 |##EME2(CDM) V=500V #E, EthHRE 1[E 05 |ERBEERHRETDHE
SYFT Y TEE _ o
22 COLRETSEAL) +100 mA, V = Vopr max. 1[H] 05 |ZyFF7yTLiEWI L

) Vopr max. = XEMEEITE
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Tas125 °C Ta=85 °C )7 3
=24 h RH=85 % T=260 °C
a t=168 h t=10 s
Al A B (#2)
=SRR7EF % ;R AL TR 4
3 Ta=85 °C
Ti:;ii1c RH=85% —
- t=168 h
Al L I (#3)
=2aRE iR AL T8 s
Ta=105 °C
- RH=100% -
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